[ Efficiency vs vertpos |

~ 0.5

g

0.95

R e LA AR LAARE LA LAR: SRARNRRRRR RRRLN LRRRN LRRR

1072

10 1 10 0?
TP vertr (cr%)

—=— DQM_TT_original_time

Efficiend —— pom_tT_modified_time

~ 05
So.45
2 04
Co 35
0.3
0.25
0.2
0.15
0.1
0.05
1.0

efficiel

...............................................

Ratio
N

> «

0.95!

-20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.5
>
’3-_0.45
£
175} 0.4
20.35
0.3
20.25F
0.2
0.15
0.1
0.05

y

)
c
9
:1:

................................................

..............................................

1.0

Ratio

=10

50 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


